This report contains the transfers results.

Contest Name

Ward 01 - North Coast

Valid Votes
Positions to be Filled
Quota

9,845 5 1,641

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Eleanor COLLIER	Scottish National Party (SNP)	1,724
Todd FERGUSON	Scottish Conservative and Unionist	1,633
Jane FRASER	Alba Party for independence	100
Alan HILL	Scottish National Party (SNP)	1,325
Nick HOBSON	Independence for Scotland Party	72
Wendy LOW-THOMSON	Independent	234
Tom MARSHALL	Scottish Conservative and Unionist	1,331
James MCDAID	Socialist Labour Party	118
Margaret MCLELLAN	Scottish Liberal Democrats	203
Ian MURDOCH	Independent	1,718
David John NAIRN	Scottish Green Party	392
Valerie REID	Scottish Labour Party	995
	Total	9,845

Candidate Eleanor COLLIER Elected with 1,724 votes, being in excess of the quota of 1,641 Candidate Ian MURDOCH Elected with 1,718 votes, being in excess of the quota of 1,641

This report contains the transfers results.

Stage 2 - Surplus of Eleanor COLLIER

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jane FRASER	26	0.04814	1.25164
Transfer to Alan HILL	1,416	0.04814	68.16624
Transfer to David John NAIRN	121	0.04814	5.82494
Transfer to Valerie REID	40	0.04814	1.92560
No further preference	43	0.04814	2.07002
Not transferred due to rounding			0.00664
	Total		83.00000

This report contains the transfers results.

Stage 3 - Surplus of Ian MURDOCH

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Todd FERGUSON	159	0.04481	7.12479
Transfer to Alan HILL	285	0.04481	12.77085
Transfer to Nick HOBSON	46	0.04481	2.06126
Transfer to Wendy LOW-THOMSON	334	0.04481	14.96654
Transfer to Tom MARSHALL	228	0.04481	10.21668
Transfer to Margaret MCLELLAN	60	0.04481	2.68860
Transfer to David John NAIRN	149	0.04481	6.67669
Transfer to Valerie REID	174	0.04481	7.79694
No further preference	253	0.04481	11.33693
Not transferred due to rounding			0.01642
	Total		77.00000

North Ayrshire Council

Transfers Report

This report contains the transfers results.

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
	-		
No further preference	174	0.00002	0.00348
No further preference	35	0.00000	0.00000
Not transferred due to rounding			0.00679
	Total		0.03945

This report contains the transfers results.

Stage 5 - Exclusion of Nick HOBSON

74.87994

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jane FRASER	4	1.00000	4.00000
Transfer to Alan HILL	14	1.00000	14.00000
Transfer to Wendy LOW-THOMSON	17	1.00000	17.00000
Transfer to Tom MARSHALL	5	1.00000	5.00000
Transfer to James MCDAID	1	1.00000	1.00000
Transfer to Margaret MCLELLAN	2	1.00000	2.00000
Transfer to David John NAIRN	12	1.00000	12.00000
Transfer to Valerie REID	6	1.00000	6.00000
Transfer to Alan HILL	5	0.04814	0.24070
Transfer to Wendy LOW-THOMSON	1	0.04814	0.04814
Transfer to James MCDAID	1	0.04814	0.04814
Transfer to David John NAIRN	6	0.04814	0.28884
Transfer to Jane FRASER	3	0.04481	0.13443
Transfer to Alan HILL	14	0.04481	0.62734
Transfer to Wendy LOW-THOMSON	11	0.04481	0.49291
Transfer to Tom MARSHALL	2	0.04481	0.08962
Transfer to David John NAIRN	7	0.04481	0.31367
Transfer to Tom MARSHALL	6	0.00002	0.00012
Transfer to James MCDAID	1	0.00002	0.00002
Transfer to Valerie REID	2	0.00002	0.00004
No further preference	11	1.00000	11.00000
No further preference	4	0.04814	0.19256
No further preference	9	0.04481	0.40329
No further preference	6	0.00002	0.00012
No further preference	1	0.00000	0.00000
Not transferred due to rounding			0.00000
	Total		74.87994

This report contains the transfers results.

Stage 6 - Exclusion of Jane FRASER

105.87922

	N (B -		
Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Alan HILL	39	1.00000	39.00000
Transfer to Wendy LOW-THOMSON	24	1.00000	24.00000
Transfer to Tom MARSHALL	3	1.00000	3.00000
Transfer to James MCDAID	5	1.00000	5.00000
Transfer to Margaret MCLELLAN	2	1.00000	2.00000
Transfer to David John NAIRN	10	1.00000	10.00000
Transfer to Valerie REID	4	1.00000	4.00000
Transfer to Alan HILL	23	0.04814	1.10722
Transfer to David John NAIRN	1	0.04814	0.04814
Transfer to Alan HILL	3	0.04481	0.13443
Transfer to Wendy LOW-THOMSON	3	0.04481	0.13443
Transfer to Tom MARSHALL	1	0.04481	0.04481
Transfer to David John NAIRN	2	0.04481	0.08962
Transfer to Alan HILL	2	0.00002	0.00004
Transfer to Wendy LOW-THOMSON	1	0.00002	0.00002
Transfer to Tom MARSHALL	4	0.00002	0.00008
Transfer to Margaret MCLELLAN	1	0.00002	0.00002
Transfer to Valerie REID	1	0.00002	0.00002
Transfer to Wendy LOW-THOMSON	1	0.00000	0.00000
No further preference	17	1.00000	17.00000
No further preference	2	0.04814	0.09628
No further preference	5	0.04481	0.22405
No further preference	3	0.00002	0.00006
No further preference	2	0.00000	0.00000
Not transferred due to rounding			0.00000
	Total		105 07022

Total 105.87922

This report contains the transfers results.

Stage 7 - Exclusion of James MCDAID

125.47769

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Alan HILL	13	1.00000	13.00000
Transfer to Wendy LOW-THOMSON	8	1.00000	8.00000
Transfer to Tom MARSHALL	3	1.00000	3.00000
Transfer to Margaret MCLELLAN	9	1.00000	9.00000
Transfer to David John NAIRN	13	1.00000	13.00000
Transfer to Valerie REID	51	1.00000	51.00000
Transfer to Alan HILL	1	0.04814	0.04814
Transfer to Wendy LOW-THOMSON	1	0.04814	0.04814
Transfer to Margaret MCLELLAN	1	0.04814	0.04814
Transfer to David John NAIRN	2	0.04814	0.09628
Transfer to Valerie REID	1	0.04814	0.04814
Transfer to Alan HILL	1	0.04481	0.04481
Transfer to Wendy LOW-THOMSON	3	0.04481	0.13443
Transfer to Margaret MCLELLAN	1	0.04481	0.04481
Transfer to David John NAIRN	1	0.04481	0.04481
Transfer to Valerie REID	6	0.04481	0.26886
Transfer to Alan HILL	1	0.00002	0.00002
Transfer to Tom MARSHALL	2	0.00002	0.00004
Transfer to Margaret MCLELLAN	6	0.00002	0.00012
Transfer to David John NAIRN	3	0.00002	0.00006
Transfer to Valerie REID	3	0.00002	0.00006
No further preference	27	1.00000	27.00000
No further preference	7	0.04814	0.33698
No further preference	7	0.04481	0.31367
No further preference	9	0.00002	0.00018
No further preference	2	0.00000	0.00000
Not transferred due to rounding			0.00000

Total 125.47769

This report contains the transfers results.

Stage 8 - Exclusion of Margaret MCLELLAN

219.21583

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Alan HILL	11	1.00000	11.00000
Transfer to Wendy LOW-THOMSON	27	1.00000	27.00000
Transfer to Tom MARSHALL	26	1.00000	26.00000
Transfer to David John NAIRN	38	1.00000	38.00000
Transfer to Valerie REID	62	1.00000	62.00000
Transfer to Alan HILL	2	0.04814	0.09628
Transfer to David John NAIRN	3	0.04814	0.14442
Transfer to Valerie REID	1	0.04814	0.04814
Transfer to Alan HILL	7	0.04481	0.31367
Transfer to Wendy LOW-THOMSON	6	0.04481	0.26886
Transfer to Tom MARSHALL	9	0.04481	0.40329
Transfer to David John NAIRN	5	0.04481	0.22405
Transfer to Valerie REID	16	0.04481	0.71696
Transfer to Wendy LOW-THOMSON	4	0.00002	0.00008
Transfer to Tom MARSHALL	11	0.00002	0.00022
Transfer to David John NAIRN	5	0.00002	0.00010
Transfer to Valerie REID	10	0.00002	0.00020
Transfer to David John NAIRN	2	0.00000	0.00000
Transfer to Valerie REID	2	0.00000	0.00000
No further preference	52	1.00000	52.00000
No further preference	4	0.04814	0.19256
No further preference	18	0.04481	0.80658
No further preference	21	0.00002	0.00042
No further preference	2	0.00000	0.00000
Not transferred due to rounding			0.00000
	Total		219.21583

Report Name: Transfers_V0001_Ward-01---North-Coast_06052022_160727.pdf Created: 06-5-2022 16:07:27

This report contains the transfers results.

Stage 9 - Exclusion of Wendy LOW-THOMSON

326.76835

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Alan HILL	57	1.00000	57.00000
Transfer to Tom MARSHALL	31	1.00000	31.00000
Transfer to David John NAIRN	47	1.00000	47.00000
Transfer to Valerie REID	44	1.00000	44.00000
Transfer to Alan HILL	6	0.04814	0.28884
Transfer to David John NAIRN	5	0.04814	0.24070
Transfer to Valerie REID	1	0.04814	0.04814
Transfer to Alan HILL	59	0.04481	2.64379
Transfer to Tom MARSHALL	59	0.04481	2.64379
Transfer to David John NAIRN	29	0.04481	1.29949
Transfer to Valerie REID	65	0.04481	2.91265
Transfer to Tom MARSHALL	13	0.00002	0.00026
Transfer to David John NAIRN	3	0.00002	0.00006
Transfer to Valerie REID	4	0.00002	0.00008
Transfer to Alan HILL	1	0.00000	0.00000
Transfer to Tom MARSHALL	7	0.00000	0.00000
Transfer to David John NAIRN	4	0.00000	0.00000
Transfer to Valerie REID	2	0.00000	0.00000
No further preference	131	1.00000	131.00000
No further preference	4	0.04814	0.19256
No further preference	145	0.04481	6.49745
No further preference	27	0.00002	0.00054
No further preference	9	0.00000	0.00000
Not transferred due to rounding			0.00000
	Total		326.76835

Report Name: Transfers_V0001_Ward-01---North-Coast_06052022_160727.pdf Created: 06-5-2022 16:07:27

This report contains the transfers results.

Stage 10 - Exclusion of David John NAIRN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Alan HILL	205	1.00000	205.00000
Transfer to Tom MARSHALL	26	1.00000	26.00000
Transfer to Valerie REID	120	1.00000	120.00000
Transfer to Alan HILL	79	0.04814	3.80306
Transfer to Valerie REID	25	0.04814	1.20350
Transfer to Alan HILL	52	0.04481	2.33012
Transfer to Tom MARSHALL	12	0.04481	0.53772
Transfer to Valerie REID	35	0.04481	1.56835
Transfer to Alan HILL	2	0.00002	0.00004
Transfer to Tom MARSHALL	7	0.00002	0.00014
Transfer to Valerie REID	5	0.00002	0.00010
Transfer to Alan HILL	1	0.00000	0.00000
Transfer to Tom MARSHALL	1	0.00000	0.00000
Transfer to Valerie REID	3	0.00000	0.00000
No further preference	161	1.00000	161.00000
No further preference	34	0.04814	1.63676
No further preference	94	0.04481	4.21214
No further preference	25	0.00002	0.00050
No further preference	7	0.00000	0.00000
Not transferred due to rounding			0.00000
	Total		527.29243

This report contains the transfers results.

Stage 11 - Surplus of Alan HILL

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Tom MARSHALL	52	0.06581	3.42212
Transfer to Valerie REID	395	0.06581	25.99495
Transfer to Tom MARSHALL	29	0.00316	0.09164
Transfer to Valerie REID	369	0.00316	1.16604
Transfer to Tom MARSHALL	28	0.00294	0.08232
Transfer to Valerie REID	72	0.00294	0.21168
Transfer to Tom MARSHALL	20	0.00000	0.00000
Transfer to Valerie REID	13	0.00000	0.00000
No further preference	1,217	0.06581	80.09077
No further preference	1,134	0.00316	3.58344
No further preference	321	0.00294	0.94374
No further preference	37	0.00000	0.00000
Not transferred due to rounding			0.02989
	Total		115.61659

This report contains the transfers results.

Stage 12 - Exclusion of Valerie REID

1,325.91181

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Tom MARSHALL	223	1.00000	223.00000
Transfer to Tom MARSHALL	130	0.06581	8.55530
Transfer to Tom MARSHALL	8	0.04814	0.38512
Transfer to Tom MARSHALL	52	0.04481	2.33012
Transfer to Tom MARSHALL	114	0.00316	0.36024
Transfer to Tom MARSHALL	26	0.00294	0.07644
Transfer to Tom MARSHALL	24	0.00002	0.00048
Transfer to Tom MARSHALL	10	0.00000	0.00000
No further preference	1,059	1.00000	1,059.00000
No further preference	265	0.06581	17.43965
No further preference	60	0.04814	2.88840
No further preference	244	0.04481	10.93364
No further preference	255	0.00316	0.80580
No further preference	46	0.00294	0.13524
No further preference	69	0.00002	0.00138
No further preference	18	0.00000	0.00000
Not transferred due to rounding			0.00000

Total 1,325.91181